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. Why do you think the League of Nations failed to preserve world peace? Discuss. (200
words)

. The Russian Revolution and the World War | were intertwined. Both impacted each
other. Elucidate. (200 words)

. Discuss the post-independence refugee problem in India. What were the measures taken
to deal with refugees and rehabilitate them? How has the approach changed from then, in
today’s context? Comment. (200 words)

. Was Jawaharlal Nehru right in adopting the principle of non-alignment as the corner-
stone of India’s foreign policy? Examine. (200 words)

. Environmental movements in the post independent India did not have pan Indian
character as they were mostly outcomes of local issues. Critically Analyse. (200 words)

. Discuss the change on Indian family structure post the effect of Industrialization and
urbanization. (200 words)

. Do you think the impact of globalization hasn’t been uniform? Give your opinion while
suggesting advantages and disadvantages of the same on the Indian society. (200 words)

. Differentiate between religiousness and communalism while explaining how the former
transformed into latter in the post -independent India. (200 words)

. Explain how conflicting geographical differences between the northern and southern
states of America led to outbreak of American Civil War. (200 words)

10. Religious and linguistic diversity are integral to the growth and development of our

society. Elucidate. (200 words)
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